ACADEMIC CHALLENGE

AMNESTY INTERNATIONAL

RENT \$2

With 1 House: \$10 With 2 Houses: \$30 With 3 Houses: \$90 With 4 Houses: \$160 WITH HOTEL: \$250

Mortage Values: \$30 Houses Cost: \$50 Each Hotels, \$50 plus 4 houses

RENT \$4

With 1 House: \$20 With 2 Houses: \$60 With 3 Houses: \$180 With 4 Houses: \$320 WITH HOTEL: \$450

Mortage Values: \$30 Houses Cost: \$50 Each Hotels, \$50 plus 4 houses

ASL CLUB

RENT \$6

With 1 House: \$30 With 2 Houses: \$90 With 3 Houses: \$270 With 4 Houses: \$400 WITH HOTEL: \$550

Mortage Values: \$50 Houses Cost: \$50 Each Hotels, \$50 plus 4 houses

ECOLOGY CLUB

RENT \$6

With 1 House: \$30 With 2 Houses: \$90 With 3 Houses: \$270 With 4 Houses: \$400 WITH HOTEL: \$550

Mortage Values: \$50 Houses Cost: \$50 Each Hotels, \$50 plus 4 houses

DRAMA CLUB

RENT \$8

With 1 House: \$40 With 2 Houses: \$100 With 3 Houses: \$300 With 4 Houses: \$450 WITH HOTEL: \$600

Mortage Values: \$60 Houses Cost: \$50 Each Hotels, \$50 plus 4 houses

INTROSPECT

RENT \$10

With 1 House: \$50 With 2 Houses: \$150 With 3 Houses: \$450 With 4 Houses: \$625 WITH HOTEL: \$750

Mortage Values: \$70 Houses Cost: \$100 Each Hotels, \$100 plus 4 houses

IF YOU REALLY KNEW ME

JCWA

RENT \$10

With 1 House: \$50 With 2 Houses: \$150 With 3 Houses: \$450 With 4 Houses: \$625 WITH HOTEL: \$750

Mortage Values: \$70 Houses Cost: \$100 Each Hotels, \$100 plus 4 houses

RENT \$12

With 1 House: \$60 With 2 Houses: \$180 With 3 Houses: \$500 With 4 Houses: \$700 WITH HOTEL: \$900

Mortage Values: \$80 Houses Cost: \$100 Each Hotels, \$100 plus 4 houses

LIBRARY CLUB

RENT \$14

With 1 House: \$70 With 2 Houses: \$200 With 3 Houses: \$550 With 4 Houses: \$750 WITH HOTEL: \$950

Mortage Values: \$90 Houses Cost: \$100 Each Hotels, \$100 plus 4 houses

MULTICULTURAL CLUB

RENT \$14

With 1 House: \$70 With 2 Houses: \$200 With 3 Houses: \$550 With 4 Houses: \$750 WITH HOTEL: \$950

Mortage Values: \$90 Houses Cost: \$100 Each Hotels, \$100 plus 4 houses

ROBOTICS TEAM

RENT \$16

With 1 House: \$80 With 2 Houses: \$220 With 3 Houses: \$600 With 4 Houses: \$800 WITH HOTEL: \$1000

Mortage Values: \$100 Houses Cost: \$100 Each Hotels, \$100 plus 4 houses

SADD

RENT \$22

With 1 House: \$110 With 2 Houses: \$330 With 3 Houses: \$800 With 4 Houses: \$975 WITH HOTEL: \$1150

Mortage Values: \$130 Houses Cost: \$150 Each Hotels, \$150 plus 4 houses

SCIENCE OLYMPIAD

SPEECH AND DEBATE TEAM

RENT \$24

With 1 House: \$120 With 2 Houses: \$360 With 3 Houses: 850 With 4 Houses: \$1025 WITH HOTEL: \$1200

Mortage Values: \$140 Houses Cost: \$150 Each Hotels, \$150 plus 4 houses

RENT \$28

With 1 House: \$150 With 2 Houses: \$450 With 3 Houses: \$1000 With 4 Houses: \$1200 WITH HOTEL: \$1400

Mortage Values: \$160 Houses Cost: \$200 Each Hotels, \$200 plus 4 houses

STOCK MARKET CLUB

RENT \$35

With 1 House: \$175 With 2 Houses: \$500 With 3 Houses: \$1100 With 4 Houses: \$1300 WITH HOTEL: \$1500

Mortage Values: \$175 Houses Cost: \$200 Each Hotels, \$200 plus 4 houses

TECH CREW

RENT \$50

With 1 House: \$200 With 2 Houses: \$600 With 3 Houses: \$1400 With 4 Houses: \$1700 WITH HOTEL: \$2000

Mortage Values: \$200 Houses Cost: \$200 Each Hotels, \$200 plus 4 houses

The Beachcomber

RENT \$25

IF 2 BW Spaces are owned: \$50 IF 3 BW Spaces are owned: \$100 IF 4 BW Spaces are owned: \$200

Mortage Values: \$100

The Oculus

RENT \$25

IF 2 BW Spaces are owned: \$50 IF 3 BW Spaces are owned: \$100 IF 4 BW Spaces are owned: \$200

Mortage Values: \$100

Student Council

RENT \$25

IF 2 BW Spaces are owned: \$50 IF 3 BW Spaces are owned: \$100 IF 4 BW Spaces are owned: \$200

Mortage Values: \$100

White & Gold

RENT \$25

IF 2 BW Spaces are owned: \$50 IF 3 BW Spaces are owned: \$100 IF 4 BW Spaces are owned: \$200

Mortage Values: \$100